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2. [z]d5H 200 200 0
18w 200 200 0
3[R LY 10,314 10,314 0
1. dnkpgn) 10,314 10,314 0
4. [Z]AAE ke 13,393 12,074 1,319
1. Yuk=gn) 13,393 12,074 1,319 | A7 R4 ¢ 819,000 +14)= 819,000
FEFEH]E 500,000 %14]= 500,000
3.8t ¥ 1,600 1,600 0
1.3+ 99 91 91 3] & 800 800 0
1.[Z2]TuIA D3]] 800 800 0
1A 5200 800 800 0
PR 800 800 0
Z9F 20243 079 042 094] 408 10% 16 ABEBAANEREH SA2Sen
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20248 A = M=o AE AN

1.[z]3HRs]ed 150 150 0

1L EHAIG G752 150 150 0

2. (2] RS 650 650 0

1. 4 ¥kEgH 250 250 0

2. x93 400 400 0

7.3 AN gF 20,000 0| 20,000
1AAEEE 9 sfA 20,000 0| 20,000
LAAEZEAA 20,000 0| 20,000

[ &34 A 20,000 0| 20,000

(A 2F)Hd AN ne 3 AR
© 20,000,000 1=

=
e

Hh=-8-H] 20,000 0 20,000 20,000,000

Z b5t 20244 072 042 094 40% 102 17 ABRERAN 0 SH 2250
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